
難しい因数分解　1
３年　　組　　番・氏名　　　　　　　　　　　　

⑩ 2ax2ax2ax2 − 2ax2ax2ax − 4a4a⑨ 5x5x2 − 10x10x10x + 5

⑧ mxmx2 + 6mx6mx6mx + 5m5m⑦ 6a6a2 − 2424

⑥ 12x12x12x2 + 12x12x12x + 3⑤ 2a2a2b + 4ab4ab4ab − 6b6b

④ 50ax50ax50ax50ax2 − 18a18a18a③ 3x3x2 − 18xy18xy18xy18xy + 27y27y27y2

② axax2 − axax − 30a30a30a① a2y − b2y

＜　　　年   月   日＞

難しい因数分解　2
３年　　組　　番・氏名　　　　　　　　　　　　

⑩ −2mx2mx2mx2 + 12mx12mx12mx12mx − 18m18m18m⑨ 3x3x2 − 12y12y12y2

⑧ axax2 − 15a15a15a + 2ax2ax2ax⑦ 2cx2cx2cx2 − 2cx2cx2cx − 24c24c24c

⑥ 2a2a3 − 18a18a18a⑤ x3y − 2x2x2y + xyxy

④ 5x5x2 − 5x5x − 3030③ 3mx3mx3mx2 + 6mx6mx6mx + 3m3m

② 9ax9ax9ax2 − a① 2x2x2 − 8x8x − 4242

＜　　　年   月   日＞



難しい因数分解　3
３年　　組　　番・氏名　　　　　　　　　　　　

⑩ 3a3a2b − 15ab15ab15ab15ab + 18b18b18b⑨ 3x3x2 + 12x12x12x − 3636

⑧ 3x3x2 − 1212⑦ mxmx2 − 10mx10mx10mx10mx − 24m24m24m

⑥ 3a3a2b − 6ab6ab6ab − 9b9b⑤ axax2 − 5ax5ax5ax + 6a6a

④ 18x18x18x2 − 2③ axax2 + 2ax2ax2ax + a

② axax2 − ayay2① 2x2x2 + 24xy24xy24xy24xy + 72y72y72y2

＜　　　年   月   日＞

難しい因数分解　4
３年　　組　　番・氏名　　　　　　　　　　　　

⑩ 3ax3ax3ax2 − 12ax12ax12ax12ax − 36a36a36a⑨ 3x3x2 − 1818 + 3x3x

⑧ 5x5x2 − 2020⑦ axax2 − 6ax6ax6ax − 16a16a16a

⑥ 2x2x2 + 4x4x − 6⑤ abab2 − 4ab4ab4ab + 4a4a

④ 4xy4xy4xy2 − 9x9x③ 2x2x2 − 10x10x10x − 1212

② axax2 − 16a16a16a① 2m2m2n − 8mn8mn8mn + 8n8n

＜　　　年   月   日＞


